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There are two parts in the question PART-I (PHYSICS & PART-II (CHEMISTRY)
iz’Uk esa nks [k.M gS [k.M& I (HkkSfrdh)  ,oa [k.M& II (jlk;.k)

Answer 10 Questions  from Part-I and 10 Questions from Part-II , ofGroup-A, each question carries 1 mark.
xzqi&A ds [k.M& I  ls 10 rFkk [k.M& II ls 10 iz’uksa ds mÙkj nsa]

izR;sd iz’u dk eku 1 vad gSA

Answer 3 Questions  from Part-I and 3 Questions from Part-II , ofGroup-B, each question carries 4 mark.
xzqi&B ds [k.M& I ls 3 rFkk [k.M& II ls 3 iz’u ds mÙkj nsa] izR;sd

iz’u dk eku 4 vad gSA

Answer 2 Questions  from Part-I and 2 Questions from Part-II , ofGroup-C, each question carries 6.5 mark.
xzqi&C ds [k.M& I ls 2 rFkk [k.M& II ls 2 iz’uksa ds mÙkj nsa]

izR;sd iz’u dk eku 6.5 vad gSA

All parts of a question must be answered at one place
in sequence, otherwise they may not be evaluated.

,d iz’u ds lHkh va’kks dk mÙkj ,d gh txg ¼yxkrkj Øe esa½ gksuk
pkfg,] vU;Fkk os ugha tk¡ps tk ldrs gSaA

The figures in right hand margin indicate full marks
nk,¡ ikÜoZ ds vad iw.kkZ ad ds lwpd gSaA



PART-I (PHYSICS)
GROUP-A

1. Choose the most suitable answer from the following options.
¼lokZf/kd mi;qZDr fodYi dks pqudj fy[ksa %& 20x1=20
(i) When a body goes under constat force, Which quantity

does remain same.
(a) Kinetic energy
(b) Total energy
(c) Momentum
(d) Acceleration

(i) fdlh oLrq ij fu;r cy yxkus ls dkSu lh fuEufyf[kr

jkf'k fLFkj jgrh gSA

(v) xfrt mtkZ
(c) dqy mtkZ

(l) laosx

(n) Roj.k

(ii) When a horse pulls a cart, the force that helps the
horse to more forward is the force exerted by.
(a) the cart on the horse.
(b) the ground on the horse.
(c) the ground on the cast.
(d) the horse on the ground.
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(ii) tc ,d ?kksM+k cX/kh dks [khprk gS rks og cy tks ?kksM+k dks

vkxs c<+us esa enn djrk gS

(v) cX/kh }kjk ?kksM+k ij
(c) tehu }kjk ?kksM+s ij

(l) tehu }kjk cX/kh ij

(n) ?kksM+s }kjk tehu ij

(iii) An object follows a curved path. the following quantities
may remain constant during the motion.
(a)  speed and magnitude of acceleration.
(b) velocity and magnitude of acceleration.
(c) velocity only
(d) acceleration only

(iii) ,d oLrq oØ iFk ij xfr'khy gS] xfr ds nkSjku dkSu lh

jkf'k fu;r jg ldrh gSA

(v) xfr rFkk Roj.k dk ifjek.k
(c) osx rFkk Roj.k dk ifjek.k

(l) flQZ osx

(n) flQZ Roj.k

(iv) The displacement of a particle in simple harmonic mo-
tion in one time period is -
(a) A
(b) 2 A
(c) 4 A
(d) Zero



(iv) ljy vkorZ xfr djrs gq, ,d d.k dk foLFkkiu] ,d

vkorZ dky esa gksxkA

(v) A
(c) 2 A
(l) 4A
(n) Zero

(v) A mass of 1Kg is moving with an acceleration of 1m/S2

The force produced will be -
(a) 1 N
(b) 1 dyne
(c) 10 N
(d) 10 dyne

(v) ,d 1 fdyksxzke ek=k dh oLrq 1 ehVj@lsdsM2 ds Roj.k ls
xfr dj jgh gS] mRiUUk cy dk eku gksxk

(v) 1 U;wVu
(c) 1 Mkbu
(l) 10 U;wVu
(n) 10 Mkbu

(vi) Which are is incorrect ?
(a) V = rw
(b) V2 - u2=2as
(c) -M = mv2 /r2

(d) None
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(vi) blesa ls dkSu lgh ugh gSA

(v) V = rw
(c) V2 - u2=2as
(l) -M = mv2 /r2

(n) dksbZ ugha

(vii) Energy stored in a spring is
(a) Kinetic energy
(b) Potential energy
(c) Both Kinetic and potential energy
(d) None of the above

(vii) dekuh esa lafpr mtkZ gS &

(v) xfrt mtkZ
(c) fLFkfrt mtkZ

(l) xfrt mtkZ rFkk fLFkfrt mtkZ nksuks a

(n) mi;ZqDr esa ls dksbZ ugha

(viii) When sound waves transmit, which are is transmitled.
(a) Particles of medium
(b) Energy,
(c) Frequency
(d) Amplitude.
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(viii) tc /ouh rjax dk lapj.k gksrk gS rks fuEfufyf[kr esa ls

fdl dk lapju gksrk gS ?
(v) ek/;e ds d.k
(c) mtkZ

(l) vko`fr

(n) vk;ke

(ix) Intensity of sound depends on
(a) Square of the amplitude
(b) Square of the frequency
(c) Square root of amplitude
(d) Inverse of the square of frequency.

(ix) /ouh dh rhozrk fuHkZj djrh gS &

(v) vk;ke ds oxZ ds

(c) vko`fr ds oxZ ds

(l) vk;ke ds oxZewy ds

(n) vko`fr ds oxZewy ds C;qRØekuqikrh

(x) As the waveleagth is increased from violet to red the
luminosity
(a) Continuously increase
(b) Continuously decrease
(c) increase then decrease
(d) decreases then increases

(x) vxj cSaxuh ls yky dh vksj rjax nS/;Z c<+k;k tkrk gS rks

Y;wehukslhVh &

(v) yxkrkj c<+rk gS
(c) yxkrkj ?kVrk gS

(l) igys c<+rk gS] fQj ?kVrk gSA

(n) igys ?kVRk gS] fQj c<+rk gSA

GROUP- B
lHkh rhu iz'uks ds mÙkj ns %&     4 x 3 = 1 2

2. Der ive equat ion of  mot ion.  21S = ut +  at2 by calcu las
method. Notations have usual meaning.

xfr dk lehdj.k 
21S = ut +  at2  dks dyu fof/k ls LFkkfir

djsaA ladsrks dk vFkZ lkekU; gSA      4
OR (vFkok)

A body is moving with a speed of 500 m/s. A force acting
on a mass 1x10 -2 Kg opposes this motion. After 10 second
the body fiads to be moving in opposite direction, with same
speed. Find the force.
,d fiaM 500 ehVj izfr lsdsM dh pky ls xfr'khy gSA1x10-2 Kg
ds fiaM ij yxrk gqvk ,d cy bl xfr dk fojks/k djrk gSA 10
lsdsM ds i'pkr fiaM mlh pky ls foijhr fn'kk esa pyrk gqvk

ik;k tkrk gS cy dk ifjek.k fudkysaA 4
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3. Define angular displacement angular velocity and angular
acceleration Give examples for each.
ifjHkkf"kr djsa& dks.kh; foLFkkiu dks.kh; osx rFkk dks.kh;

Roj.kA izR;sd ds fy, mnkgj.k nsaA 4

OR (vFkok)
Explain advantages and limitations of magnetic particle
methods of NDT. methods.
N.D.T fof/k;ks a esa ls pqEcdh; d.k fof/k ds Qk;ns ,oa dfe;ksa dk
o.kZu djsaA 4

4. A car is moving with a speed of 72Km/Hour on a horizontal
road. It is stopped by a force of 180N in 01 second. What
is the minimum power of engine of car.
,d dkj 72 fd-eh-@?kaVk dh xfr ls {kSfrt lM+d ij xfr'khy
gSA 180N cy ls] ;g 01 lsdsM esa jksd fy;k tkrk gSA xkM+h ds
batu dh U;wure 'kfDr Kkr djsaA 4

OR (vFkok)
Write Newton's laws of motion with. examples.
U;wVu ds xfr fu;eksa dks lksnkgj.k fy[ksaA

GROUP- C
lHkh nks iz'uks ds mÙkj ns %&       6.5x 2= 13

5. Define S.H.M show S.H.M as projection of uniform circular
motion on any one diameter.
l-vk-xfr dks ifjHkkf"kr djsaA ns[kk;s fd l-vk-x- fdlh O;kl

ij ,d leku o`fr; xfr dk iz{ksR; gSA   6.5

OR (vFkok)
A particle of mass 20g is thrown vertically upwards with a
speed of 10m/s Find the work done by the force of gravity
during the time the particle goes up.
,d d.k ftldh ek=k 20g gS Åij dh vksj lh/k s 10m/s dh
xfr ls Qsdk tkrk gSA tc d.k Åij dh vksj tk jgk gS ml

nkSjku xq:Ro cy ds dkj.k fd, dk;Z dks x.kuk djs aA 6.5

6. Define luminous intensity . Explain Write and explain Inverse
square law in photometry
T;ksfr rhozrk dks ifjHkkf"kr djsaA izdkefefr esa O;qRØe oxZ

fu;e dks fy[ksa ,oa O;k[;k djsaA 6.5
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Explain limit of intensity and loudness of sound. Write and
explain sabine's formula.
/ofu dh rhozrk ,oa izcyrk dh lhek dh O;k[;k djsaA flckbu

ds lw= dks fy[ksa ,oa O;k[;k djsaA 6.5

PART-II (CHEMISTRY)
GROUP-A

(xi) The most important property of lubricating oil is
(a) Oiliness
(b) Uiscosity index
(c) Cloud point
(d) None

(xi) Lusgd vEy dk eq[; xq.k gSA

(v) vEyh;rk

(c) ';kurk b.MSDl

(l) es?k fcanw

(n) dksbZ ugha

(xii) The main Costituent of glass is
(a) Cao
(b) Sio2
(c) Al2o3
(d) Boron

(xii) dk¡p dk eq[; vo;o gSA

(v) Cao
(c) Sio2
(l) Al2o3
(n) cksjksu
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(xiii) Which of the following is the example of filler.
(a) Talk
(b) Triphenul phospthate
(c) Naphthenates
(d) Turpentine Oil

(xiii) fuEukafdr esa fQyj dk mnkgj.k dkSu gS\

(v) VkYd
(c) Vªkb fQusy QkWlQsV

(l)  usQFksusV
(n) rkjihu dk rsy

(xiv) The fatty oils are triester of
(a) Ethylene glycol
(b) Gluoxal
(c) Glycerol
(d) None

(xiv) olk vEy fuEdkafdr esa ls fdldk Vªkb bLVj gS \

(v) fbfFkfyu XykbZdkSy
(c) Xykbdty

(l) fxyslsjksy

(n) dksbZ ugha

(xv) Which of the following is linoleic acid ?
(a) C17H35CooH
(b) C17H31CooH
(c) C15H31CooH
(d) C17H33CooH

(xv) fuEukafdr esa fyuksysbd vEy dkSu gS \

(v) C17H35CooH
(c) C17H31CooH
(l) C15H31CooH
(n) C17H33CooH

(xvi) The protective or non protective nature of oxide film is
determined by a rule known as
(a) Slater rule
(b) Fries rule
(c) Pilling- Bedworth rule
(d) None

(xvi) ifjj{kh ;k vifjj{kh vkWDlkbM ds izd`fr fdl fu;e ls

gksrk gS \

(v) LysVj fu;e
(c) Qzkbt fu;e
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(l)  fofyax&osMoFkZ fu;e
(n) dksbZ ugha

(xvii) When Cuso4 solution is electrolysed. Which of the fol-
lowing gas is liberated at anode
(a) O2
(b) H2
(c) Cu
(d) None

(xvii) tc dkWij lYQsV dk fo|qr vi?kVu fd;k tkrk gS rc

,uksM ij dkSu lh xSl fudyrh gS \

(v) O2
(c) H2
(l) Cu
(n) dksbZ ugha

(xviii) Which vitamin is found in fish oil ?
(a) A 2
(b) D2
(c) E
(d) None

(xviii) eNyh ds rsy esa dkSu foVkfeu ik;k tkrk gS \
(v)  A 2
(c)  D2
(l)  E
(n)  dksbZ ugha

(xix) Certain unripe fruits like grapps, plums apple contain
(a) H2So4
(b) CooH-CH=CH-CooH
(c) CooH-CH2-CooH
(d) None

(xix) v/kids Qy tSls lso] iyEl] fd'kfe'k es a jgrk gSA

(v) H2So4
(c) CooH-CH=CH-CooH
(l) CooH-CH2-CooH
(n) dksbZ ugha

(xx) The unit of resistivity is
(a) Ohm. cm
(b) Sipmen. cm
(c) Ohm% cm-1

(d)  None

15 1602103/1601203/P16021031602103/1601203/P1602103 14

PTO



(xx) izfrjks|drk dh bdkbZ D;k gSa \

(v) vkse ls aVhehVj

(c) lkbeu ls aVhehVj

(l) izfr vkse izfr lsaVhehVj

(n) dksbZ ugha

GROUP-B
lHkh rhu iz'uks ds mÙkj ns %&         4 x 3 = 12

7. Explain corrosions. Indicate Cause of corrosions.
la{kkj.k ls D;k le>rs gSa\ la{kkj.k dk dkj.k fy[ksaA      4

OR (vFkok)
Write cell reaction teking place at anode and cathode
(a) zn zn Ag Ag 

(b) 4Fe Fe Mno Mn  

,uksM vkSj dSFkksM ij jklk;fud vfHkfØ;k fy[ks a 4
¼v½ zn zn Ag Ag 

¼c½ 4Fe Fe Mno Mn  

8. Write down molecular formula of
(a) Potash Felspar (b) White lead
(c) Lithopone (d) Beryl

;kSfxd lw= fy[ksa 4
¼v½ iksVkl QsyLikV           ¼c½ 'osr ySM

¼l½ fyFkksiksu                 ¼n½ csjhy

OR (vFkok)
What do you mean by viscosity and viscosity index of
lubricants ?
Lusgd ds ';kurk ,oa ';kurk b.MsDl ls vki D;k le>rs

gS \ 4

9. What do you mean by electrolytes and non electrolytes?
fo|qr vi?kV~; ,oa fo|qr vuviV~; ls vki D;k le>rs

gS a \ 4

OR (vFkok)
Write Monomer of
(a) Teflon (b) Neoprene
(c) Orlon (d) Nylon -6
,dyd fy[ksa 4
¼v½ VsQyksu                ¼c½ fuvksizhu

¼l½ vkWjyksu                 ¼n½ ukbyksu -6
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GROUP-C
lHkh nks iz'uks ds mÙkj ns %&  6.5 x 2 =  1 3

10. Calculate emf of the following cell. 0.1M 0.01M
CuZn CuZn  

Standard reduction potential of zn and Cu are -0.76 and
0.34 V respectively

fuEukafdr lsy dk emf fudkysa 0.1M 0.01M
CuZn CuZn  

 ftad

vkSj dkSij ds ekud vip;d foHko dk eku Øe'k% -0.76 vkSj

0.34 oksYV gSA                 6.5

OR (vFkok)
Write short notes on
(a) Teflon      (b) Lexan (c) Plastic

fuEukafdr ij fVIi.kh fy[ks a 6.5
¼v½ VsQyksu  ¼c½ ysdlu ¼l½ IykfLVd

11. How Iron is extracted from Red haematite are ?
jsM gsekVkbV v;Ld  ls vkW;ju dk fu"d"kZ.k dSls fd;k tkrk

gS \                  6.5

OR (vFkok)
The electrical conductivity of 0.1N Kcl solution at 250C is
0.01 ohm-1 .cm-1. The resistance of solution is 50  calculate
cell constent ?
0.1N Kcl foy;u dh fo|qr pkydrk 250C ij 0.01 vkse-1

lseh-1 gSA foy;u dk izfrjks/k 50  gSA                           6.5
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